For Husgvarna Parts Call 606-678-9623 or 606-561-4983

BHusgvarna | o =12

C:::quggb — (10000096

IPL, Technical Specification 2000, 2001-01, 106 24 61-63

Technical
Specification 2000

Trimmers, Brush cutters,
Back packs, Edgers

106 24 61-63

WWW.mymowerparts.com



For Husgvarna Parts Call 606-678-9623 or 606-561-4983

TECHNICAL SPECIFICATION 2000
Husqgvarna Trimmers, Brush cutters, Back packs, @Husqvarna

Edgers.

Qe - I PILN ' N . B : -
8 5 © 1 | q b~ ZANNO)
= | B3| & | Vi & . J
pipicnen i | i o opiseges | s et . | e | g, Gorter ppocene | e, g aion | earen, Qoo dorewr | g | e i
Cylindrée lésage Course Puissance max. Régime de ralenti Régime dembrayage Nombre de tours max. | Bougie Ecartement des Systeme dallumage Ecartement Carburateur Kraftstofftanks Poids Winkelgetriebes Antriebwelle bohrung des Sageblatts |~ Diametre de lame Angle Antricbwelle
Gl B | o, e | gmmdna | e el | s gcie || e | o G pldnoree | (o Do | oy Do st | Gliodior | (oo i
S e s
KW (HP) ** O N ankvolyr sle
cc mm mm rpm rpm rpm rpm mm/inch mm/inch type set Lit. kg "/mm mm deg rpm
Ch i Ib =]
322C | o217 32,0 270 | 9740 | 2700 | 3800 | 11700 | RGN | 05002 | ‘ep° | 030012 | ZmaciQ | HIZ* | g4 4,0 11 | 3B24R) | - _ 30° 11 700
0,7 (1,0) 11 000=*|  Champion Walbro Zama C1 H=2 * : 7 860-
8360
i Walb =
322LIRIT | 217 320 27,0 2700 | 3800 | 11 700** 0,5/0,02 0,3/0,012 s 4,0/46/40 | 1146 | M10x125 | 17254 | 200-255 |  30° 8 000
: P 11 3/8-24(R — — 30° 11 700
F-rechl]  325Cx | 245 34,0 27,0 092 | 2700 3800 11700 | Sameen | os/002 | Wb | 03/0,012 AT 43/44/43 | 1146 | MIOXL25 | 17254 | 200-255 30° 800 CE)
—_— 325Lx 0,9 (1,2 *%| Champion Walb H=2 * . Y . = o &)
E-techll aompscmie | 245 340 27,0 SA2 | 2700 | 3800 | 11700 SRaEeM | 05/0,02 a° | 030012 | Zmacio | HZ2 . | 050 455045 | 1146 | MIOx125 | 17/254 | 200-255 | 30 8 000 &5
7T 09 (12) 11 000=*|  Champion Walbro Zama C1 H=2 * : _ 7860- +
F-techll 325Ex | 245 34,0 27,0 Lt 2700 3800 s iy 0,5/0,02 . 03/0,012 | Zam ClQ =i *| 050 54 11,40 | M10x125 | 20,0 200 7860- E
| 3%5Cx| s | a0 | 270 | 098D | 270 | aeo | w0 | GER | osece | 'Go® ogooi2 | mecic | U oso | a1 | 11 3R - - | ST 1170 EQ
0,9 (1,2 11 000:"* Champion Walbro Zama C1Q H=2 * . _ 7860-
e s 2 L e | 8360 =
L/LX/ILXT i = 4,2/42/44
245 34,0 27,0 2700 3800 | 11700 0,5/0,02 0,3/0,012 MZ2x | 050 la7/a7iaziag| 1146 | M10x125 | 1"/254 | 200-255 30° 8 000 g
09 (1,2) **[ Champion Walbro Walbro H=1 * . _ _ o
227L/LD | 269 35,0 28,0 S 0on 2 700 3700 | 7000 | SN | 051002 o~ | 03/0012 | e = < | 050 57/60 | 1140 | M10x1,25 35 8 500 >
:::::::::7: —_— - - e 0 - N 40— Q04—
227RIRDR e oo | 3
11(1,5) ** Champion Walbro Walbro H=1 %
232 | 308 35,0 520 | “ggpt | 2700 | 3800 | O | G | 05002 | co | 030012 [ wrse | L= 0,50 6.2 1140 | M1OX125 | - = 35° 8 500
1,1(1,5) 11 000- Champi Walbro Walbro H=1 *
232R/RDIRJ 320 2700 | ss0 | L] e | o500 0310012 =3 5602|1140 | Mi0a2s 200275 |35 | 5500
132R | 318 38,0 280 092 | 3000 3900 | 11000 | gey | 07003 | " ogzpooip [ Wb - 0,80 6.1 1133 | M12x175| 200 | 200-255 35° 9 000
[ s o I s S s i s /o B [ e N B
Z35RIRI | waion | om0 20 o0 S0 | DO | e omee | " | oanon o
*k X —
240RBD/R] | 363 38,0 20 | BG&D | 2700 | ssoo | OO0 chamen | g0y | webo | ogoo1z | Mo | HELY | o5 | 9064 | 1153 | MI2L75| 200 | 200300 | 35° 7800
142R/142RB | 415 40 330 L3 | 2600 3400 11 000 BBFI)";\#A\/IG §g¢ 0,7/0,03 "> ] 03/0012 [ Wabro - 1,00 77113 | 1129 | M12x175| 200 200-300 35° 9300
245RX/245R | 443 420 32,0 2700 | 3700 | 12500 05/0,02 03/0,012 L4 | og) | 86 | 1136 | miaxa7s| 200 | 200300 | 30° 9190
21(28) Champion Electrol Walbl - °
T e L O O 3 A O 170 i W kol S 748 o O IS o I o A o
152RB | 502 m 330 2 600 3400 | 11000 0,7/0,03 0,3/0,012 _ 1,00 113 1129 | MI2x1,75| 200 | 200-300 9300
252RX | 508 450 320 23882 | 2700 4300 | 14000 | Cameen | 05/0,02 | Electrolux | 03/0012 [ Webro HeLLL4 | 080 89 M12x1,75 | 200 | 200-300 30° 10 300

106 23 62-66 QDo not exceed the max no load free speed or engine damage may occur. This figure is for a broken in unit. Reduce RPM by 600-700 rpm for a new product. *Basic setting. Only applies to needles without caps fitted **Regulated ignitionsystem



